
W93A-150-070W-A 

W93A-160-070W-A 

W93A-170-070W-A 

W93A-170-075W-A 

W93A-180-070W-A 

W93A-180-080W-A
ENG • RUS 

WMA-W93A-150-070W-A

GEM



per 1 linear meter. Dimensions of the 
room for the installation of the bathtub 
should provide technological gaps +5 
mm from each side of the bathtub (for 
the linear expansion of plastic under 
the influence of temperature/weight of 
water).



Warranty service is not performed if
the product malfunctions (cracks 
around the drawin/overflow holes)
are caused by the use of siphons during
installation, which do not have rubber
or silicone seals on the inner and/or
outer sides. It is also not allowed to use
siphons with polyurethane seals.
The manufacturer does not recommend 
installing metal siphons on the bath.



-
+

( -

).





GEM

W93A-150-070W-A
W93A-160-070W-A
W93A-170-070W-A
W93A-170-075W-A
W93A-180-070W-A
W93A-180-080W-A

ENG Bath 

RUS Ванна 

6 

150x70 
Ванна W93A-150-070W-A
Панель W93A-150-070W-P
Каркас W93A-150-070W-R

160x70 
Ванна W93A-160-070W-A
Панель W93A-160-070W-P
Каркас W93A-160-070W-R

170x70 
Ванна W93A-170-070W-A
Панель W93A-170-070W-P
Каркас W93A-170-070W-R

170x75 
Ванна     W93A-170-075W-A 
Панель   W93A-170-070W-P 
Каркас    W93A-170-075W-R

180x70 
Ванна     W93A-180-070W-A 
Панель   W93A-180-070W-P 
Каркас    W93A-180-070W-R

180x80 
Ванна      W93A-180-080W-A 
Панель    W93A-180-070W-P 
Каркас     W93A-180-080W-R

Дополнительное оборудование: 

Устройство слива перелива для ванны. 
Длина устройства 600 mm         W90A-000-OFI

Устройство слива перелива для ванны. 
Длина устройства 1000 mm         W90A-1000-OFL  



W93A-150-070W-A

 5
9
0 4

2
0

7
0

 363

3
4

8

6
0

5
5

7

1500

 6
9
8

115°
 4

4
8

4
0

300

500

350

400

Вывод канализации

Sewage outlets



W93A-160-070W-A

 5
9

0 4
2

0
 

7
0

 363
 3

4
8

 

6
0

 5
7

8
 

1600

 6
9

5

115°

 4
4

8
 

4
0

300

500

350

400

Вывод канализации

Sewage outlets



W93A-170-070W-A

 5
9

0 4
2

0
 

7
0

 363
 3

4
8

 

6
0

 5
7

8
 

1700

 6
9

5

115°

 4
4

8
 

4
0

300

500

350

400

Вывод канализации

Sewage outlets



W93A-170-075W-A

 5
9

0 4
2

0
 

7
0

 363

 3
7

3
 

6
0

 6
2

8
 

1700

 7
4

5

115°

 4
9

8
 

4
0

300

500

350

400

Вывод канализации

Sewage outlets



W93A-180-070W-A

 5
9

0 4
2

0
 

7
0

 363
 3

4
8

 

6
0

 5
7

8
 

1800

 6
9

5

115°

 4
4

8
 

4
0

300

500

350

400

Вывод канализации

Sewage outlets



W93A-180-080W-A

 5
9

0 4
2

0
 

7
0

 363

 3
9

8
 

6
0

 6
7

8
 

1800

7
9

5

115°

 5
4

8
 

4
0

300

500

350

400

Вывод канализации

Sewage outlets



12

W93A-150-070W-R 
W93A-160-070W-R

1 metal frame каркас х1

2 nut M12 гайка М12 х22

3 washer M12 шайба М12 х12

4 leg/support ножка пластиковая /опора х10

5

6 screw 3,9x32 саморез 3,9x32 x4

7

long stud M12 длинная шпилька М12 x4

short stud M12 короткая шпилька М12 x2

wall fix kit боковой фиксатор x3

dowel 8x40 дюбель 8x40 x3

screw 6x40 саморез 6x40 x3

1

24

3

6 5

7

Состав каркаса: Состав пристенного крепежа:

8

9

10

8 9
10



13

W93A-170-070W-R 
W93A-170-075W-R 
W93A-180-070W-R 
W93A-180-080W-R

1 metal frame каркас х1

2 nut M12 гайка М12 х22

3 washer M12 шайба М12 х12

4 leg/support ножка пластиковая /опора х10

5

6 screw 3,9x32 саморез 3,9x32 x4

7

long stud M12 длинная шпилька М12 x4

short stud M12 короткая шпилька М12 x2

wall fix kit боковой фиксатор x4

dowel 8x40 дюбель 8x40 x4

screw 6x40 саморез 6x40 x4

1

24

3

6 5

7

Состав каркаса: Состав пристенного крепежа:

8

9

10

8 9
10



14 



t 



� 

16 



17 



18 




	Пустая страница



